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. "thectmns (Q 11- 13) Mark the corn ect svnonvm of tlle gweﬂ “ ord

.o _'Raconteui i
L A) cou:ageous i B) COWElld C) stmytellet A D) mke

A pll_o_iié)f__: R B) composed C) :msantlnope D) petty s
13.  Malapropos: o
R -A) mapplopnate B) angu;sh C) malalse o D) mahce

Duectlons (Q 14 16) Malk the cmlect oppos:te of the gn en w 01 d

| 14 _-.Spluce

EREY ) kmd_. RRTRE 'B) tall : C) nmsy ' "'D) Silel‘lt SN

:-16._ Salubrious : _ TR
o A)salty n B) sweet C) dlstmbed D) unhealthy___'_' o
Du ectlons (Q 17 20) Matk thc conect pleposuwn to be ﬁlled in the gaps R

17. Eventually she camelound o my views: R '_ ' R
Adat - B)with Qof i D) to
[8.  Tendulkarwillgo ______iner icket-histor y as one of the gteatest batsmen.
A) over ~B)down - C)of o D) from
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32, |
S A) Vlenna B) Thellague i C) Pans '_ D) Ncw Yonk

34,

A doctor has to conlend " “iolent patients . -

Mt Bl Owith Dyby
j'iCho!elahas blokel1 i m the cny R : e

~A) out SRR B) over C) wnth il D) off L

Whlch one of the followmg is not couectly matched‘? RSN X

. _A) Llpuiekh —= Uttarakhand =~ - -~ 'B) Nathu Lam Amnachal Pladesh

Q) Rohtang — H;machal Piadesh D) Palghal — Kerala oo
- .The most applopuate measure of a countr y S _economic “growth is its :

SA) Nel_Do_ma_s__ilc P;Qdu(_:t (NDP) G - -B) Per Capita Product (PCP)

- C) Net National Product (NNP) - =.... =" D) G;oss Domestic I’mduct(GDP)

o -Whtch one of the followmg States of India has the lnghest urban density?
A) Mahatashtla B) Pllll_]&b C) Wesl Bengal D) Tamti Nadu e

..ﬁlz-Who was the main ]eadel of the entne Smghbhum leglon in E857 Revo!ullon‘?

- “A) Raja Arjun Smgh RPN -B) Raja Durjan Sal .. SR SR
-___.C) leat! Unuaon Smg,ll N a D) Thakul Vlshwanath Shahl RN
“To wh[ch:ehglon lsthe te;m ‘Anuwat 1e_f_ated'? ' :' SO DR -. .
©CA) Jainism oo R j -B) Mahayana Buddhlsm o

1) Hmayana Buddhlsm T i D) Lokayata Schoo! NS
: __'Robusta Isavauety of plo_duced in Aﬁlca ERRREEE T R
o ;A) Banana S R B) Tobacco B C) Coffee . .'D)Cocoa -

-The sculplmes m Malhma schooi ofAli aae made of s
SR A) Maible A B) Red S'md Stone C) Slate Stone e -"D) Grani{e :

"3"South Afuca ;01ned the gmup of the fastest gaowmg economles compnsmg BIaZII, GRS
= "_:.Russm India, China i in: o ! '
L A)1999 B) 2001 C) 2008 - D) 2011
29, _'Whlch one ofthe followmg ]ntematlonal watex ways is opelated thlough lock system‘7 R
o A) Panama Canal B) Suez Canal -~ C) Rhine River . Dy Denube Ri\’el EE
230, :Accondmg to the 2014 Human Developmenl Repont 1eleased by UNDP.,..'._'..';_.'._'.'..';' Vi
. A)2.3 billion peopfe live on$ 125adayorless .= oo R
~B) 3.2 billion people live on $ 1,25 a day or less’ i
- C) 75 million people live on$l.25adayorless o
D) 1.2 billion people live on $ 1.25 a day or less : - :
' :Accmdmg to the, Global Peace Index 2014 the least peaceful mtlon of the wm!d is:

" A) Pakistan . 'B) Ilaq C) Syna D) Afghamstan
~The thnd edition oflhc global Nucleat Secuuty Summlt (NSS) 201 4 was held at:

-]sthmus is: i - SUCUTALN :

B A) a nanow sea passage that lmks two lalge areas ofland R
“B) a narrow strip of land connectmg two !a:gc areas ofiand R
C)an lS|‘1l1d suuounded bysea - - - e

D) yet another name of Gleenland : _

The name of India’s f'lst mtelpianetaly spacccnaft is: Sl :

AYMANAV. - “B)AGNI 0 MANGALAYAN D) INSAT-1V
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35. .

36,

_'6lh BRICS Summlt washeldin: .. . . .0 e
_A) Fortaleza and Brasilia =~ .. - B)New York and Texas .
: -'C) ToI\yo and Kyoto D) Paris and Vienna -
_.Complete the series o EERRAR RS
'.-mop—-momn——mpn MOp =

Y '.:-:_5'-A) mnpmon - - - B) mpnmop - i ©) ml'iblhpli - D) lﬁ'l"]pom'n '

3.

'_Select the pan of wmds ﬁom the foul a]tematlves that has same 1elai10nshlp as the - B
_g;venpanhaS- RS S R ERER
~Given pair : = Pr opensm Tentlenqr S

e A) Prologue: Epllogoue SRR T SRR B) Maste1 Slave

38,
T

Sl

44,

- C) Audacity: Impudence =~ L D) Conduct lmmmality SRR
Findtheoddone: .~ . o ;'- - o
DAE 11) Al il 10 w) El . v) OU
A BYi) . Q)iv) D) V) THEA Ll L
~Inacer tam code BASIC is wutten as D_DULE How is LEADER wutten m that code‘? ¥
o A) NGCFGT B) NHCGGU R ) OGDFHT - D) OHDGHU R

'.Pomtlng to a lady in the photoglaph Slaaloo sald __‘Hei sons fathez is the son m law__ L
ofmy mother’, How is Sha]omela_ted to the iady‘? SIS SRR o
- A)aunt e -B) sister - Gy mothex D) cousm L

- Seven people A, B C D E, F. and G are Standmg in a smgle ﬁie line facmg Noath L _
~is somewhere ahead of F. There is exactly one pelson standing between Cand G, D is -
-.'mlmedlately behind ‘A. F is behind both B and D. If D and C are 4"' and 5“‘ in lme'
_ _::espectlvely then which of the followmg must be frue? SRR
_ _ _'-A)A is 15‘ SR B)B is P C)F is6™ o D) Fis 7“‘
L4200
o and then turns 270° antl clockwise. ]n wh[ch direction is he facmg now? - _
o A) west PO “B) nonh wesE C) south g Z'__j:_- D) south-west

43

A man is famng towalds wesl he trns ﬁuough 45" clockwnse agam 180° clockmse .

-_-Study the Flg and ﬁnd whlch teglon |ep|esen£s smgels who are nexthef lndlans nor .
leadens i ERE R 5

: Lerdars

. . Indians

w7 B 0s ”  g®§fff'

Study following information and answer the questxcm

: 'MKKIDNETTQOBFHAAGTUUX\VLSRI

If each of the letter gets numerical value based on the posmon in above anang,ement
such as M=, K*Q =4 and so on, then value of which of the following consonanis, when
added to that of the vowel followmg nnmedlately amountsto 11, - -

AYH 0 BK o CON - D)none ofth_ese
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45

If vowels are dlopped from the following series, which of the followmg would be the 8th

- element - to the - ng,ht “of the 13" ~efement - ~from - the leﬁ _el_l_d"
' 8CM@N+’I2Y6$(1Q$7"W#Z3UE%A4 '

M4 B8 0% D)C

. 46,

Ifitis posmble to m'ﬂ\e a numbel whlch is pei fect sqwue ofa two dlglt odd numbel USle:,
“the “2nd, “4th “and 7“ digits - ‘of ‘the number 739142658 using each only once_
which of‘the fo!fowmg is 2nd digit ofthat two digit odd numben" S S '

w3y w05 D

55,

'Fmd the mlssmg letter - -

1In a row Ashish stands 15" from left and Sachm is 7“ ﬁom nght If they mtelclﬂnge theu
- “places, Sachin wouid be 15" from the right. How many studems_ale there in the row?
M2 m2 o 929 D)3

48, CIf 4+ means ‘dlwdecl by’, "means ‘add’, ‘x’ means m:nus and ‘/’ means mu!tiphed_ )

by’, what will be value of toliowmg exp:essaon” .

o .;-{{(17).12) (4/2)} +(23- 0)1/0. S B R -
o Afee B0 cms I

[ATM]B
RIC[ s |D
oo EJUTTFE e
LAG T T BR C)T D)V

g _Whai s the least muIt:ple of 7 wluch when dlvlded by each one 0f6 9 15 18 gwes a =
'}emamde_:: ot4 in each case. EREEE R S A -
ROECE B C>94 =_*.;; e

. The avmage age of the husband and w:fe was 23 years wheu they wele mamed 5 N
[ '_gyeals ago. The avelage age ofthe husband, the w:fe and a Chlld who was bom duung N
- the interval, is 20 yealsnow liow oid is the cluid now" S ICE TR '
A year S B)2 yeals :_j_'- ' C)3 years, e D)4 yeals SRR
82, '._'Kamh got mamed 6 yeals ago ’Ioday hel age 1s 1 tnnes age at the tlme of
' . __mamage Her son's age is l/]Oiames her age Hel sonsage is - Sl
S S A)2yeals B)3yeais R C)4yeals P D)S yeats - _
53, A dl)’ fruit selier mixes thlee vanetles of walnuts costmg Rs. 50. Rs 20 and Rs.30 pel '
" kg. in the ratio of 2:4:3 in terms of welghi and se[ls the mntme at Rs. 33 per kg What Lk

o percentage of paoﬁt does he mal\e’? Ry EAT : -
_ A) 8% . B) 9% R C) IO% o D) I2%

54

A cncle is mscnbed ina squ'ue An eqtulatetal tuang[e of' snde 4fcm is mscubed in

._..'that circle. The length of dlagonal ofthe squalels R
“A)dvzem o B)8em:i “C) 8fcm S D) 16cm :
“ A sum becomes Rs 2916 in 2 yeals at 8% per annum c0111p01md mtelest The sum is

0 AYRs2750 - B)Rs.2500 C)Rs 2625 D)Rs.2560
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56

What is the meaning of puttmg yom laptop usmg MS W mdows opel atlng system 1n_

_hibernate state'7
~A) Stores open files & settmgs in RAM 'md goes to s]eep mode =
B) Stores open files & settings in RAM and turn- oft the [aptop .

'- Q) Stores open files & settings in Hard-disk and goes to sleep mode 5 SERE

5T

60

6l

e
6.

64,

65.

"D) St01es open ﬁ[es & settmg,s 1n Hﬂld dlsk and turn- offthe laptop

::Usmg the Hald Dlsk asan extellslon ofRAM isa teattue of

L A) Virtual memory - L 2B) Cache R T DRI
-0) Duect Memory . Access (DMA) _ _____E_)) Y_ntnal_Rea_lt_t_y_ SR
Match the fo]lowmg AR S : i
a) HTML () P;otocol fo: sendmg electlomc mall on the Intemet . _
B _b) HTTP (u) Company that chal ges a fee to enable ol ganlzations to connect to -
L S “Internet L R
' -c) ISP H (m) Set oftags and 1el'1ted lules that are used to meate web pages IR
' d) SMI P (iv) Intemet standald that suppo; ts eschange of lnfounatlon on Web
_. 'A) a) (IV) b) (l) C) (ll) d) (lll) "3 B) a) (IV) b) (I) C) (Hl) d) (ll)
-0 a)- (m) b) (lv) c)- (i) d)-(i). D) a) (]ll) b) (n) c) (lv) d) (l)

“Which of the fotlowmg statement is false‘? R
~A) Data dictionary is also known as system catalog : FER N
~~'B) The information stmed in data dlctlonaty is called meta- data RO e
+.0) Data dlctlonaly is a centtaflzed store of infor matlon about the database

D) Data dICIIOIlal y st01es mf‘onnatton conta:ned in vauous tables of database -

A method ofensuung mteguty ofa document faEaat '_ R N S
AYF newa]l BySSL C) Authentlcauon RReE -D_) T_)igi_ta__l____S_i_gt_latures .
“The title ofAAS2 fssued by CDllllCll oflCAl fs o S
L A) Objectlve and Scope of the Financial Statements .o EC
" B) Objective and Scope oftlae Audit of Financial Statements A

-+ C) Objective and Scope. of Business. ofan Ent;ty B O T AR
."D) Objectwe and Scope of F:nancnal Statements Audlt S

A sale of Rs, 50 00(} oA was enteted as a sale to B. Thls is an. example of

- A) Eum ofom}ssmn e 2 B). Error ofconnmssmn

'-_C) Compensatmg euol ST ~ D) Error ofpunclple '

-'.‘Goods sent on apploval bas:s have been iecmded as ‘Cledat sales Thls lS an e\ampfe_ R
_A) Enm ofpunclple SR B) Enoa of‘commlssmn

-C) Euoa ofomzssmn R D) Eum ofduphcatton

. .Wlnch of the followmg statements is not tr ue‘7

A) Management fraud is more dlff' cult to detect than employee flaud

- B) Internal contro] system 1 reduces the possablhty of occurrence of management fraud
~C) The auditox $ lGSpOilSlbl]ll)’ fon detectlon and plevention ofeums and ﬁauds is .

similar. _ :
Dy All statements are couect

‘How many puncnptes are listed in AASI whlch govem audltm s plofessaonai obltgalloﬂ"

A) Nine B) Fourteen .~ C) Seven D) Elght

sa—8/A .Page7of22




66.

....67_. .

© 68,

- The risk of management fraud incr eases in the plesence of:
A) Ftequent changes in supplies - .

~'B) Improved internal controf system .
“C) Substantial increases in sales =i s -
D) Management mcentlve system based on saies done in a quaxte1 o

'-Audltmg standatds dlffet ﬁom audlt ptocedmes in that plocedules 1elate to '

s - A) audit assumpttons : Seni s B) acts 1o be petfo]med

o .-'L) quahty cnteuon S i D) methods ofwonk
The most d;fﬁcuh type ot mlsstatement to detect ﬁaud :s based on

-7 A) Related patty purchases - . B) Related party sales ool i SIS
C) The 1estatement of sates o D) Omtssmn ot' a sa!es llﬂ]lS'tCthil ﬂom betng 1eeolded i

.

0.

:Whlch of the followmg is the most applopuate potenttal reaction of the aud1t01 to his
" V_assessment that the risk of mateual mtsstalement due o ﬂaud is hlgh in telatlon to
. :existence of inventory? . . T ARRR
A) Visit Tocation on sur pnse basts to obset ve test counts
B) Request inventor y.count at a date close to year end .
~.C) Vouch goods sent on apptovai very catefu[ly Sl
; -'D) Petfomt analyttcai plocedules -

‘Which of the followmg 1s not hkely to be a ttaud usk facto: lelaung to management s T
“characteristics? L ST = .

. .A) Tax evasion

.

BN

- .B) Failure to correct known weakness IH mtetnal conttol system S ST
0 Adoptfon of conservative accountmg plmc:lples ' i o
L D) ngh management turnover - - fE S
1. - P;ot’esssonal skepttetsm tequnes that the audltm assumethat mana,gement 15
TA) Reasonabiy honest -~~~ - B) Neither honest nor dishonest

“C) Not necessauly honest :_":- D) Dtshonest unless ptoved othelwlse S

_.Whlch of the fo!lowmg mfo:matlon should a successon aud1t01 obtam dtn mg.J the tnquny SRR
“ofthe ptedecessm auditor before aceeptmg engagement‘? _' Ry R SR
i) Information about mtegtlty ofm'magement g SRR
i) Disagreement with management concemlng audttmg plocedutes o

- ili) Review of internal conttol system R : o
“iv) Olganlzatlon stt uctute

_:A) (1) and (i) . B) (u) and (ln) C) (1) (u) and (m) D) (t) and (111)

“An audltm who accepts an audtt but does not possess the 1ndust1y expelttse of the

business entlty should

~A) engage ehpells S : : : I Rt _
‘B) obtain knowledge ofmattets that 1elate to the natute ofentlty s busmess FEE

C) inform management about it .

RRNEE D) take help ot'othet audltms - e R o » _
74, _"The least }mpol tant eIement n the evaluatlon of an audtt tnm S system of quallty conttol
- “would relate to . R U
~A) assignment of audit aSSIstants o B) system ofdetelmmmg, audtt fees _ _
C) consultation with experts -~ D) cont' dentrthty ot chent $ 1nfo:mat10n :

sa—8 /A Page8of 22




75.

76,

The primary purpose of estabhshmgD qtlﬂllt)’ cont:ol pollc1es and p]ocedtnes f(n decndmg
on client evaluation is to L

‘A) ensure adhetence to generally accepted audltmg standatds
-'B) acceptance or retention of clients whose management does not lack 1nteg1 tty
- C) ensure audit fees is chalged accmdmg to the type ot audlt wmk assi gned
D) all oftheabove o T REDERSTAIEY

.Alldlt mn depth is synonymous fot S

- 'A) Complete audlt B) Completed audlt - C) Fipal audit e D)Detalled at'_t_dit_
Balance sheet audlt mcludes veuﬁcatlon of S T IR
LAY Assets 0 U B) Llabtltttes i
Q) Income and e\pense accounts whete app1 op1 jate D) All of the above o

W hlch of the followmg statements is not ttue about contmuous audlt‘? B
" "A) Itis conducted at regular interval -
.B) It may be carried out on daily basis - & RN I
-0) Itis needed when the 01 gamzatlon has a good mtet naI conttol system e

i D) Itis expenswe Gl

o

80,

82,

83.
84,

85.

"fln dete1 mmlng the level of mateuahty fm an audlt what shouid not be cons:deled‘?
“A) Prior year'serrors - i B) The auditor’s Iemunetatton o

C) Adjusted lnteum ﬁnanc;al statements D) P1101 yeai s fi nanc1al statements

.'.Analytlcal plocedunes [ssued in the plannmg stage ofan audlt genelallj,r

' 'A) he[ps 1o detel mine the natuae, tnnlng and e\tent of othe1 audlt ptocedtues
- B) directs attention to potential risk areas - ST R -

C) indicates nnponant aspects of busmess e

D) All of the above

81 __'Ofthe followmg whlch is the least petsuaswe type ofaudlt ewdence‘7 N

A) Bank statements obtamed ﬁom the client -

~ B) Documents obtained by audltm ﬁom third paltles dneetty o
C) Carbon copies of sales invoices 1nspected by the alldltOi

D) Computatlons made by the auditor

“Which ofthe fot]owmg is not a conobm atwe ewdence‘7
A) Minutes of meetings - N e
'B) Confirmations from debtons U

C)y In for mation gatheted by auditor thtough obsei vatlon .

D) Wm ksheet suppontlng consolldated ﬁl]allCIaI statements

Which of the fotlowmg afl tects audlt effectweness'?

~A) Risk of over reliance ~:-:* . B) Risk ofllnconectlejectlon

C) RESk ofmconect acceptance e _D) Both (A) and (C)
;.Audlt ptogtamme is ptepaled by u :
A) the auditor o ;_j._ 3_'-'_B) the cltent : SR
C) the audlt asmstants G D) the audtton and his audlt assustants
The wmkmg p'tpets which auclltm prepares. f01 financial statements audtt are:
A) evidence for audit conclusions B) owned by the client
C) owned by the auditor D) retained in auditor’s office until a change in auditors

sa~8 /A Page 9of 22




86.

87.

88,

8.

Which of the following is not an advantage of the pr epmatlon ofwm kmg papet‘?
A) To pIO\’l(leEll)ElSlS for review of audit work Sl RN

‘B) To provide a basis for subsequent audtts PR

C) To ensure audit work is being carried out as per plogtamme

o D) To p1owde a gmde fm advlsmg anothet eltent on snmlal issues .

~Which of the fo]lowmg methods of sample select1on is least smtable f01 e\ttapolaltng
- results to the population‘? _- SRR RR S o
2:A) Systematic sampling R B) Random samplmg _
0O Haphazaid salnp]mg D) Sttatiﬁed samplmg L

_ "Whach of the followmg statements is conect‘?
" A) Lower the sampling usk greater the sample stze
‘B) Smaller the tolerable error, greater the sample s1ze S Al L
C) Lower the espeetecl error, smalle1 the sample s;ze T e R
D) Allare correct R T

_ Whtch of the followmg expenses should not be tteated as capltal e\pend;tme‘? S
- ~A) Expenses paid on installation of a plant. : : -
‘B) Costof dtsmantlmg a bulldmg in case a new bmldmg is to be consttucled on the land
' 'C) Legal expenses tncuued to defend a smt 1elated to tltle of patent and the su;t has been e

lost e

e D) The fees p'ud to engmeet who constmcted thc p]ant

90 : 'Whteh olthe followmg is not a 1evenue e\pense‘7 S

'A) Interest on a loan _ R R T
. B) Cost of accessories of motor \fehtcles spent at the ttme of putchase S

- .C) Expenses 1ncuned for safegua;dmg of land owned R R
: lD) Insurance plemtum pald at the tnne of 1eglst:ation ofthe sh;p

9],
9.

93.

:94' L

‘Which of the followmg isa tevenue 1ese1ve‘7 S e
- A) Capital redemption reserve - B) Secuuty ptemlum aecount
C) Debentune ledemptton |esetve- D) Capltal reserve - -

~‘Which ofthe lollowmg wtll ot lead t_o Cteatlon ofseetet 1ese1 ve? P
- A) Undervaluation ofclossttg stock R R
B) Chalgmg capltal expenditure to revenue < S
©C) Goods sent on consignment being shown as actual sales i :
D) Chatgmg lnghel rates of depte01at1on on ﬁxed assets than actually tequned

Who is 1esponsnble f01 tlle appomtment of statutm y audltm of a llmiled company‘?

- .A) Directors of the company j' --31-_ B) Members of the company .
Q) The Cenlla! Government - - D) All of the above R

Which of the tollowmg statement is not tr ue?

A} A paltnetsh ip firm can be appointed as a statutm y audltm ol hmlted cmnpany _
B) Appointment of statutory auditor of a company can be made in the name of the fi tm

C) Majority of the paltnets ofthe audltmg firm should be practicing in ]ndta ERE
D) All paltnels of the audltlng f'nm should be ehatteled accountants e

sa—8 /A -Page 10 of 22




95.

- The board of directors shall appoint first auditor of a company . .

- A) Within one month of completlon of capttal subsm iption state ofthe company
~B) Within one month of the plomonon of the company .. ... 0 :
~'C) Within one month of the commencement of the busmess of the company

R "'_-D) Within one month ofmcmpmat;on ofthe company S
96, The telm oflhe audltmshlp of ﬁlst audltm would be ﬁom the date of appomtment t]ll

o A) the conclusion of statutOIy mecting LR R :

" "B) the conclusion of first annual general meetlng
- C) the conclusion of next annuai genexal meetmg
D) the date oflemoval L S

o
98

100,

If a Casual vacancy in the ofﬁce of aud1t01 auses by hIS leszgnatton lt should onI)r be

RRSE filled by the company m a.._....,; L e
~~'A) Board meetmg AR B) extlamdmaly general meetmg PR
0 Genelal meetmg R '_ D) annual general meetmg _ _
_ The audltm of a Govemment company ]S appomted by the C & AG H]S ;emunel atlon 1s_
-~ fixed by ' B R ' L
CCAYthe CEAG - o B) theshareholdels . o
0) the shaleholdezs at an annual genelai meetlng R D) t_l_le b_oa_ld of_di_re_cto_l_'s R
The 1etnmg audltm does not have a rlght to: ) L PR, : |
L A) make written 1eplesentatlons : -B) get hlSieplesentatlons cnculated
-_-C) be heald at the meetlng oDy speak as a member of the company
: 'The statutory aud1t01 ofa Govemment Company submlts hls IepOIt to:
-+ A) the BODs of the company S BYthe C&AG :
. -__'C) the Leglslatme ORI D) the_com_pany_secret_ary
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_QNo..

54
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62
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67
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T oo

72
3

74
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CAms.

‘QNo.

S27
o 28
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EN

ST

33|
34

40
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45
46

A7

®
50

" Anms,

Q.No.

_'.10. S

1

13
14

15
16
17
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21
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